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D < EGF=H2F�E=HIF�E <�<�H�<IJ=H�K D <�<�H�<IJ=H�K D <2L=H2E�FBH2M D E=NGH�N2M=H�NIM <�<GH�<2J=H�K D <G<�H�<2J=HGK D <2L=H2E�FBH2M D
< < J=H D�O H D�O KGH2L=H�< O KGH2L=H�< O JBH D�O H D L D JBH�< O H�< O KGH2L=H�< O K�H2L=H�< O JBH D�O H D L
E < D F�LBH D J D H D J D J=<�H D < O H2E O < J=<�H D < O H2E O < D�D F=H DGD L=H�<�E D D N O H D J=NGH D JGN J=<�H D < O H2E O < J=<GH D < O HIE O < D�D F=H DGD L=H�<�E D
F < DGD H2E=K�HIE=K L=H D <�HG<2M K�H2E�F=HIF�M JBH D <�H�< O D <GH D M=H D M L=H D <�H�<2M K�HIE�F=H2F�M JBH D <�H�< O
N < D F=H D L=H D L K�H D�D HG<2E K�H D <�HG<2F D�D H D FBH�<2F D LBH D J=H D J K�H DGD H�<2E K�H D <�H�<2F D�D H D FBH�<2F
M < ,�EGH2,�EGH2,�E D�O H DGD H�<2J D�O H DGD H�<2J D E=H D FBH�<2M < O H�< D H�< D D�O H D�D H�<IJ DPO H D�D HG<2J D E=H D FBH�<2M
K E <GK�H2E�M=HIE�M D L=H�< D H�N�N D K�H�<G<�H�N2F < D H�<�NGH2F=N <2MBH�<2J=H�<IJ D NGH�<�<�H�N O D N�H D J=HIF=K D J=H�<2FBH2F=<
L E D J=H�< D HG< D D�D H D <�H2E=< D�D H D <�H2E=< D E=H D FBH�<2M <2LBH�<2J=H�<IJ D <GH D F=H2EGM D <�H D F=HIE�M D M=H D LBH2E�E
J E <GH2E=H2E <�H2E=HGN <�HIE=H�N <�H2E=H2F E=HGN�H�N <�HIE=H�N <GH2E=H�N <�H2E=H2F
D�O E <�H D F=H D F�Q ,�EGH2,�EGH2,�E <�H D FBH D M�Q <�H�N�HIM�Q E�LGJ=H�N D <GH�N D < ,�EGH2,�EGH2,�E <�H D F=H D M�Q <�H�N�HIM�Q
D�D E D F=H�<2E=HG<2E MBH2L=H D L MBH2J=H D J D J=H�<2FBH2F=< D KGH�<�<�H�<G< D <GH D F=H2EGM DGD H D F=HIE�F D M=H�<�<GH2E=K
D < E <IE=H�<�K�HG<�K J=H D <�HG<2L J=H D <�HG<2L D L=H�< O H2E=K E�MBH2F=<�H2FB< D�O H D E=H2E D DPO H D E=HIE D D K�H D JBH2E=N
D E F EBN�H2F�F=HIF�F < O H�<G<�H2M O < O H�<G<�H2M O <2E=H�<�NGH2F=K N D H�N�<�H�NG< < O H�< D H�NIJ < O H�< D HGN2J E D H2E�EBH2M�E
D F F K2M=H DGD L=H D�D L FB<�H�N�<�H D E�F FB<�H2M O H D F=< N�<GH2M�L=H DGD J E�MBH�N�<�H�NG< NIF=H�K O H D K2M ,5<�H2,5<IH2,5< M=KGH2L=K�H D N2E
D N F < D H�<2M=HG<2M D F=H D J=H2F=N D F=H D J=H2F=N D J=H�<2MBH2F�F E=<GH2E=N�H2EBN D NGH D J=H2FBK D N�H D J=HIF=K D M=H�< D H2E�M
D M F <GN�H�N D HGN D D K�H D L=H�N O D K�H D L=H�N O D J=H�< O H2E�L E=NGH2E�M=H2EGM D MBH D K�H2FBK D M=H D K�HIF=K D N�H D MBH2E O
D K N ,�EGH2,�EGH2,�E EGE=H2E�J=H D�O E ,�EGH2,�EGH2,�E F�F=H�N2EBH2J�M J=K�H D�O F=H D�O F FGE=H�N2F=H D E�L ,�E=H2,�EGH2,�E F�JBH2M D H DPO J
D L M EGE=H2E�J=HIE�J <�<�H�<IE=H2M=N < D H�<IF=H2M�F E D H2E�MBH2M�M F�FBH2F�M=H2FGM <�<GH�<�K�H2MGJ <IJ=H2E=<�HIL�L E O H2E=NGH2M�F
D J D�D FGJ=H�K D HGK D F D H�N O H D E O F D H�N O H D E O F�E=H�N�<GH2J�F K2FBH�K2J=H�KIJ FGJ=H�N�K�H D N2E F�J=H�N�KGH D N2E N D H�N2J=H DPO J
< O D < FGE=H�N2F=HGN2F <2L=H2E O H2L�F <2L=H2E O H2L�F E D H2E=<GH2M=< L�MBH2J�F=H2JGF EGM=H2E�L=H D�O L E�M=H2E�LBH D�O L F D H2F�FBH2L�F
< D D < D�D LBH D M=K�H D M=K KGK�H2L=K�HG<2E�J KGK�H2L=K�HG<2E�J K�KGH2J O H D M�M E=NGH�N2M=H�NIM <�<GH�<2J=H�K D <G<�H�<2J=HGK D <2L=H2E�FBH2M D
<�< D < M D H2L=<�HIL=< NGN�H�N2L=H D M�M NGN�H�N2L=H D M�M N2MBH�N2L=H DGD E N D H�N�<�H�NG< <�NGH�<2M=H�KIF <GN�H�<2M=HGK2F E D H2E�EBH2M�E
<2E D < D K�NGH�<2F=N�HI<2F=N L O H2J=K�HG<�N�N MGJ=H2L=N�HG<�< D D�O J=H D <�K�H�<�E=N N D H2M�E=H2MGE EBN�H2F=<�H D�D�O E=N�H2F=<GH D�D�O F D H�N�<GH2J=<
<2F D < <�< D H2E=<�N�H�E=<�N <2M D HIE=N�<�H2LGK�< <�< D HIE O <�H�K�F=< D <2L�M=H D J O MGH2E D J D D FGE=H D K2JBH D K�J D�O E=H D F=KGH2E=N D DPO <�H D FBN�H2E�FGK D�D L=H D N�N�H�<IK�<
<�N D < <IE=H�<2F=HG<2F D N�H D M=H2F�F D N�H D M=H2F�F < D H�<�<GH2F=< < D H�<�<�H�<G< D NGH D M=H2FGF D N�H D M=HIF�F < D H�<�<GH2F=<
<2M D < <IJ=H2E=K�HIE=K <2E=H2E D H�K�N <2E=H2E D H�K�N <�N�H2E�FBH�N2L <�KGH2E�E=H2EGE <2EBH�<�K�H�K D <IE=H�<2L=HGK�< <2F=H�<2LBH�N D
<�K D < DGD H D <�H D < LBH2J=H�<2E LBH2J=H�<2E M=HGK�H D < D <GH D M=H D M LBH2J=H�<2E L=H2J=H�<IE M=HGK�H D <
<2L D < D K�H�<2J=HG<2J D E=H D N�H2E�J D E=H D N�H2E�J D E=H D NGH�<�K E�FBH2E�M=H2EGM D FBH D M=H2FB< D F=H D M=HIF=< D N�H D KGH2E D
<2J D < L=H D�D H D�D NGH2M=H D F NGH2M=H D F M=HGK�H D < K�HIL=H2L FBH�N�H D�D F=H�N�H DGD N�HIM=H D�O
E O D < <G<�H2F�L=HIF�L D L=H D J=H�N2E D L=H D J=H�N2E D J=H�< O H2E�L <�<GH�<2E=H�<IE D MBH D K�H2FBK D M=H D K�HIF=K D K�H D LBH2E�F
E D D < N O H DGD E=H D�D E <�N�H�<IM=H�K2F <�N�H�<IM=H�K2F <2M=H�<�KGH�N�< E�JBH2F O H2F O < O H�< D H�NIJ < O H�< D HGN2J < D H�<�<GH2F=<
9CRS9�T�4/0 D <2FB<�H D K2LBK2H D K2L=K J O F=H DGD�D F=H�<�L�MIL L=N O H DPO K2L=H�<IK�<�F < O N2F=HG<�K�K2LGH2F�L O N D�DPO L=H D E O E=H D E O E MGE O H�K2L O H D J�L�M M�E�F=H2L O F=H�< OUD L K�N�<�HIL=K2M=H D M O=D
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< O D�OGO K O H2J=N�HIJ=N F O H2F�EBH D < D F O H2F�E=H D < D F=<�H2FGF=H2L=N D J�L=H�< O M=H�< O M M�L=H�K D H�< O N M�L=H�K D H�< O N K�<�H�K2MBH D F=K
< D D�OGO EBK2M=H�K2L D H�K2L D F�E=<�H2FGF�M=H D E O L FGE=<�H2F�FGM=H D E O L MGJ=N�H�K D J=H D F D E EBN�H�N2M=HGN2M <G<�H�<2J=HGK D <�<�H�<2JBH�K D <IL=H2E�F=HIM D
<�< D�OGO D M�E=H�<2M D H�<2M D D <2L=H D E O H2E�LIF D <2L=H D E O H�E�L�F D M D H D M�E=H2EG<2E NGN�H�N2M=HGN2M <GN�H�<2M=HGK2F <�N�H�<2MBH�K2F EGE=H2E=N�HIM=K
<2E D�OGO <GN2M=H2E=NIM=H2E=N�M K2L=H2L=KGH�<2F D KIL=H2L=K�HG<2F D D K O H D J�F=H2EIM�E MGL=H�K2L=HGK2L E=K�H2F=<GH D�D F E=K�H2FB<�H D�D F N O H�N�<GH D�OUD
<2F D�OGO ,�EGH2,�EGH2,�E ,5<�H2,5<IH2,5< ,5<IH2,5<IH2,5< ,5<IH2,5<IH2,5< ,5<IH2,5<IH2,5< ,5<IH2,5<IH2,5< ,5<�H2,c<2H2,c< ,5<IH2,5<IH2,5<
<�N D�OGO EBN O H2F�EGM=H2F�EIM ,5<�H2,5<IH2,5< ,5<IH2,5<IH2,5< NG<�H�N2E=H D�O F EGM=H2E=K�HIE=K <GN�H�<2M=HGK2F <�K�H�<2LBH2L O EGM=H2E=K�HGK�<
<2M D�OGO FB<�H2F�M=HIF�M E�M=H2F�EBH D�D E EGM=H2F�E=H D�D E E�L=H2FGE=H2L O EGJ=H2F=<�HIF=< E�M=H2F D H D�D�D E�M=H2F D H D�DID EBK�H2F�F=HIL O
<�K D�OGO EBH2F=H2F EBH2F=H2L E=HIF=H2L E=HIF=H2M EBH2F=H2F EBH2F=H2L E=H2F=H2L EBH2F=H2M
<2L D�OGO D <2M=H�< O E=H�< O E J�M=H2J�LBH�<2L�L JGM=H2J�L=HG<2L�L JGM=H2J�L=H D J�E < D N�H�< D K�H�< D K DPO�O H D�O <�H2E OIO D�O�O H DPO <�H2E O�O D�O�O H D�O <�HI< OUD
<2J D�OGO L=H D�D H D�D N�H2M=H D F NGH2M=H D F MBH�K�H D < KGH2L=H2L N�H2M=H D F N�H2M=H D F M=H�K�H D <
E O D�OGO DPO M=H�<2EBK�H�<2EGK N2E=H�N2FBH D N2L NIE=H�N2F=H D N2L NIF=H�N�N�H D�O L < D H�<�<�HG<�< <G<�H�<2E=HIM=N <�<�H�<2EBH2M=N < D H�<�<�HIF=<
E D D�OGO D N2E=H2F�EBK�H2F�EGK F=N�H2F�MBH D E�F FBN�H2F�M=H D E�F N O H�N D H D�O�O FGE=H2F�F=HIF�F <G<�H�<2E=HIM=N <�<�H�<2EBH2M=N <IE=H�<2F=HIF�M
9CRS9�T�4/0 D E O E=H�<IF�E D HI<2F�E D J D M=H2JBN�K�H�<IK2MIJ J D M=H2J=NGK�H�<�K�M�J D E D NGH D E=K2LGH�<�M�L�E MGL�F=H�K2EGE=H�K2EIE E�F O H2EGM=K�H D O <�K E�F O HIE�M=K�H D O <IK E=K2EBH2F O�O HIK2M�E
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< O D < FGE=H�N2F=HGN2F <IL=H2E O HIL�F <2LBH2E O H2LGF E D H2EB<�H2M=< LGM=H2J�F=HIJ�F E�M=H2E�LBH D�O L E�M=H2EGL=H D�O L F D H2F�F=HIL�F
< D D < E D N�H2F D J=H2F D J < O K�H�<�NIF=H2M�MIM < O K�HG<�N2F=H�M�M�M <2M=<�HIE=<2F=H�N�L=N NGK�H�K�N�HGK�N L D H DPO M=H�<�M�M L D H D�O MBH�<2M�M L�F=H2J�EBH D K2M
<�< D < D <2E=H D K O H D K O M�F=H2M�LBH D J�F MGF=H2M�L=H D J�F LGJ=H2J O H D K2L MGE=H�K2E=HGK2E F O H2F�MBH D <2F F O H2FGM=H D <�F FGL=H�N D HIJ�L
<2E D < <GN2L=H2E�MBK�H2E�MGK K�<�H2L O H�<�<�< K D H2L�E=HG<�<2E D N2F=H D K2J=H2EIE=< MBK�H�K�K�HGK�K E�J=H2F�MBH D <�< E�J=H2FGM=H D <I< N2E=H�N�NGH D�O K
<2F D < �AE=H��AE=H��AE F D E=H�NIF�M=H D E=K O FBN2M=H2M O M=H D N D M D�O�OUD H D E�E�LGH�<�E�E�L MBN2F=H2L D <�H2L D < F=K O H2MGF�F=H D N2L=< F=K O HIM�F O H D N�K�L F O JBH�N�<2J=H�J�E=K
<�N D < <GK�H�<2J=HG<2J D L=H D J=HGN2E D LBH D J=H�NIE <�N�H�<IM=H�N O FBK�H2F�J=HIF�J D L=H D J=HGN2E D L=H D JBH�N2E <GN�H�<2M=HGN O
<2M D < D E=<�H D MGM=H D MIM E=N�H2E�JBH D�O K EBN�H2E�J=H D�O K F�L=H�N D H2J�L FBN�H�N O HGN O N2J=H2M=<GH D K2L N2J=H2MGM=H D LG< EBN�H2F�E=HGK�K
<�K D < �AE=H��AE=H��AE �$<�H��$<�H��$< ��EBH���EBH���E J O L=H D F O M=H�<�E D E NIF=H�N�N�HGN�N F D H2F�FBH D <2F �AE=H��AE=H��AE EB<�H2E�L=HIM�J
<2L D < D J=H2E O HIE O D M=H D L=HIF�L D MBH D L=H2FGL D K�H D J=H2E=N EGM=H2E�L=HIE�L D L=H�< O HGN2F D L=H�< O H�N2F D L=H�< O HIE=K
<2J D < D F=H D N�H D N L=H2J=H�<IE LBH2J=H�<2E J=H D�O H D L J=H D�O H D�O K�H2L=H�< O K�H2L=HG< O L=H2J=H D M
E O D < DGD M=H D JGE=H D JIE <IJ=H2E O HIL�M <2JBH2E O H2LGM E�F=H2EBN�H2M�L LGJ=H2J O HIJ O <IJ=H2E O HIL�M <2J=H2E O H2L�M EGF=H2E=N�HIM�L
E D D < D J�M=H2E=NIL=H2E=N�L M�E=H2M�MBH D J O MGE=H2M�M=H D J O MBN�H2M�M=H D E O D F�M=H D FBK�H D FGK F O H2F D H D�D J F O H2F D H D�D J FBK�H2F�L=HIJ�F
9CRS9�T�4/0 D <2F�E=H D L OUD H D L O=D N2F O H2M D E=H D M=K�E NIE�J=H2M D M=H D MGK2F KIE�F=H2L�EB<�H D NIN2M MGF=N�H�K O E=H�K O E E�M=K�H2F D M=H DID E O E�M=K�HIF=< O H DID EIF E�J�EBH2F=<2F=H�L O K


